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9.481 x 100 = 2.509 x 1000 =
1.788 x 100 = 6.86 x 10 =

8.121 x 1000 = 6.274 x 1000000 =
10.288 x 1000000 = 3.234 x 100000 =
9.88 x 10000 = 4.822 x 1000 =
5.801 x 1000 = 8.05 x 100000 =
5.616 x 100000 = 8.035 x 10 =
4.066 x 10 = 4.557 x 100 =
5.788 x 10 = 7.074 x 100 =
4.561 x 1000 = 1.349 x 1000 =
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9.481 x 100 = 948.1 2.509 x 1000 = 2509

1.788 x 100 = 178.8 6.86 x 10 = 68.6

8.121 x 1000 = 8121 6.274 x 1000000 = 6274000
10.288 x 1000000 = 10288000 3.234 x 100000 = 323400
9.88 x 10000 = 98800 4.822 x 1000 = 4822

5.801 x 1000 = 5801 8.05 x 100000 = 805000
5.616 x 100000 = 561600 8.035 x 10 = 80.35

4.066 x 10 = 40.66 4.557 x 100 = 455.7

5.788 x 10 = 57.88 7.074 x 100 = 707.4

4.561 x 1000 = 4561 1.349 x 1000 = 1349
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